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PART 1 (80 marks)

For each gquestion from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the comect oval (1 2 3or4)on
the Optical Answer Sheet. :

-~ ) - N

1. A syringe is filled with water. When its plunger is pushed, a jet of water shoots
out in the direction as shown below.

Before Afler

air-  water plunger air  water

What has happened to the water and the air in the syringe?

A. The volume of waler has increased. o
B. The volume of water has decreased.

C. The volume of air remained the same.
D. The voliiitie- of air increased. . "

{1) Aand D only

) 2y B onlg -
(3) B and C only
{4) B andD only

. -
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2. The {able shows the result of an experiment on three substances A, B, C.

Properties | ‘ A B - C

definile shape ot W;;es B “No No
_;13_5 definite mass Yes Yes “I»Yes
definite volume Yes No Yes .

Which of the following identifies these substances correctly?
(1) A-solid, B— liquid, C — gas
{2) A -liquid, B —solid, C - gas
(3) A -=gsas, B -sohd, C - liquid
{4} A —solid, B-"gas, C - liquid
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3. A beaker of water was placed in the fridge. The diagram below shows the
beaker of water when it was just taken out of the fridge.

At the beginning
Which one of the following diégrams shows what has takén pla_c; ;fEe_r two
hours? '

(1)

(2)
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4. The diagram shows how water moves from the Earth's surface to the air

and back again.

water

t eveen

B

vapour

scas

D

rivers

clouds

!

The process of evaporation takes place at

1y A
{(2) B,
3) C
4) D

5. Which of.the following action(s) is/are most likely to pollute the Earth’s water

resources?

A Takmg tong showers.

B. Spraying insecticides and pesticides near rivers and lakes

" C. Buming of rubbish

- D. -Throwing harmful waste into the sea

{1) A and B only
{2) B and Donly
{3) B, C and D only
{4) All of the above
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6. Which diagram shows how breathing {akes place in a fish?

1
o f 5 (2)- water rich
Water rich » in oxygen

in oxygen

Water nch in ST
: dioxid
Water rich in carbon dioxide

carbon dioxide ) . - o -

N
]

3)

g:j\

4
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o~
Z
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e

»
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)

Water rich

Water rich in in oxygen

carbon dioxide

_ Wateriich
in oxygen

~ Waterrich in
carbon aronde T

7. Which one of the following gas exisis in the greatest amount in the air?

(1) Oxygen o e
(2) Nitrogen R ‘ .
(3) Water vapour -

(4) Carbon dioxide . =
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8. Which one of the following diagrams shows the flow of air in our body?

(1) > heart \;\‘ ) :
!ungs ’

nose / o I

\

windpipe

[

(2)

- windpipe

lungs ——_

~

nose

heart /
(3 ) Iungs \

windpipe windpipe

‘\nose 4//

/)

N

(4)
. \
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9. When the diaphragm in your chest cavity moves upwards and downwards,
is taking place.- - .. . R

{1) breathing

{2) circulation

(3) respiration ’ _

{4} photosynthesis - ) i

10. The body’s circulatory system cansists of

A. biood ' ' e
B. blood vessels

C. heart

D. lung

(1) A and C only .
(2) A, Band C only
(3) B, C and D only
{4) All of the above

11. Which of the following describes the circulatory system incorrectly?

{1) The heart pumnps blood rich in carbon dioxide to the lungs.

(2) Blood vessels are needed to transport blood.

{3) The waste products are carried away by thé biood.

(4) Blood rich in carbon dioxide is pumped to the rest of the body.
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12_When food is made, it is stored in the form of siarch.
lodine is a liquid which turns dark blue when there is starch.
The cut end of a Balsam stem is dipped into some iodine. Some patches of
dark blue are seen as in the diagram below.

o 3

Study the diagram below and answer questions 12 and 13.

dark blue pat_chéS

The dark blue patches show us the position of the

(1) airspaces - ’ ——_ .
(2) pores

(3) tubes that carry waler

(4) tubes that carry food

13. The root of the plant was earlier ﬁ?q)ped into a botile of water stained with red
ink. The red palches as seen in the cut stem indicate that _ .

—

. -

(1} air has entered the red palches . -

(2) food is being carried along these tubes

{3) the tubes which carry water are different from the tubes that carry _food'
{4) the tubes which carry water are the same as the tubes that carry food
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14. Which of the following activities need energy?

M
)
3)
Q)

A: lying in bed
B: breathing
C: digestion of food

D: playing football- =

A and B only

B and C only

A, Band D only
Al of the above - -

15.The following diagram shows one way in which energy is transferred.

Sun —— Plant —— Grasshopper —» Bird —> Snake

Which of the following statements about the diagram is true?

M
2)
)
4

gawr

_Cog_}y .

B and D only
A, Band D oniy
All of the above

10

The bird gets its energy indirectly from the plant
Only plants get their energy directly from the sun.

Energy is transferred indirectly from the pilant to the snake.
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16.  Study the flow chart below carefully.

Gets energy no Geis energy no Gets enerpy
directly from " direcdy from [} directly from
the Sun? planis? - animals?
yes i yes L yes
_ v oo
A - Gets energy SR D
- o from animals
100?
no yes
B C
What are A, B, C and D?
A B 94 D
(1) cowW grass tiger human
2) grass cow human “Tliger
L -
(3) grass human cow < figer
(4) tiger human grass cow
]
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17. Which one of the holes in the wooden block would allow Mary 1o see the
cockroach?

B <
R A &

M A -

{2) B

{3) C

4 D - -
i2
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18. A boy stood m f}orit of aﬂ (-iisplay" window,

He is able to see what was being displayed behind the window and his
reflection in the window at the same time.
He is able 1o do these because the display window

A: alfows light to pass through
B: does not allow light to pass through
C: reflects some light back into his eyes

(1) Aonly
(2) Conly

7T {3 AandConly
(4) Band Conly

13
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19.  Study the classHication below.

—

 Objects
P - Q- ) R R R
Wood- ' Tracing Paper Class
Cardboard Tissue paper Spectacie lens

‘What are the suitable headings for P, Q and R?

P Q R
(1) ~ Opaque - Transparent Translucent
(2) Opaque _Translucent Trar;s;;areni N
(3) Translucent - Op;zque Transparent
4 Transparent Opaque Trans!rucent\
14
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20. Sandy sef‘up an éxbcfigéﬁ_i fé st de éha‘daw_;féhe piacéd *a‘baskétball
and a glass cube as shown in the diagram below and shone light on the 2
objects. The shadow produced was captured on the screen.

light glass cube basketbali screen

Which one of the following shadows would Mindy see on the screen?

(N
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21. Which one. of the following graphs correctly shows the changes in the length

of a shadow cast by an object during the day? .

(1)

Length of
shadow

(2)

Length of
shadow

(3)

Length of
shadow

(4)

Length of
“shadow

1

]
12R00n

|4

¥

=
12noon

~

4pm

v

4

} L3S
8am 12noon 4pm
4
F ! »
8am 12noon 4pm
16

Time

Time

Time

Time
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22, Heatis given off by

A: the sun

B: melling ice -

C: burning things

D: rubbing a stone against the ground

1) AandGonly . _ _ o

() BandDonly - »' T
I A E: and D only
{4) Al of the above

23. Look at the dia'g‘ram of a kettle below. Which parts of it is most likely made
of materials that are poor conductors of heat? -

B
C
. {13 Aonly ‘
) 2) Conly -

{3) BandConly i
{4) AandDonly
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24. The glasses below are filled with dlfferem amounts of water at different
tempetatures. - - S
Arrange the glasses begmmng thh 1he one w;lh the most heat to the Ieast
heat?

Glass A _ Glass B Glass C
40°C. 70°%C 70°C

() AC,B -
(2) B,AC
(3) B,C.A -
@ CAB

18
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25. —Celine placed a bottle of hot milk into a basin of ice water as shown below:

Which of the following statement/s is true?

milk bottle —__

hot milk i

— e

b — e v —

fe . e et —

-.. ice cubes

basin

A: The temperature of the hot milk would decrease for a period of time.
B: The temperature of the tap water would rem_ain unchanged.

C: The ice gained heat from the hot milk, tap water in the basin and swirounding

air.

D: The basin was cold when you touched it because your hand lost heat to it

(1) Aand Conly
(2) BandDonly
(3) A BandConly
4y A CandDonly

- -

19
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26. 2 metal cups are stuck together. Which one of the followmg would be the

fastest method of separating them?

(1)

metad cups

M

o8 cubes

20
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27. Gibert set up the following experiment as shown below. He heated equal
volumes of melal, water and air in different sealed cylinders. He measured
and compared the time taken for their temperature to reach 80°C.

50cm® of metal

clamp ——*‘E “E

The aim of his experiment was to find out

)
@
@)
)

50cm® of water

|

E .

clamp

N T

50cm® of air

bunsen bumer

which type of matter contracts lhe fasiest.

the boiling points of different types of matter.
how fast heat travels in different types of matter.
what happens to different types of matter when théy are healed.

21
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28. A cup of hot water was placed in‘a container-of ice cubes as-shown in the

diagram below.

Which one of the foliowing graphs most accurately shows the temperature
of the hot water and ice cubes over a period of five hours?

~ Temperature
°’cy

)

Temperéhsa
i’cy

-
...
-
LT Py,
Y errananunus

\ 4

)

Temperature
1°c)

@)

Temperature
°c)

'y -~

AT TTTYYL Py
— >
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29. Look at the table beiow.

Waterproof materials Non- Waterproof materials
plastic aluminum
glass cotton
rubber sikk

Which materials have been wrongly grouped?

(1) sluminum
(2) cotton
(3) glass

(4) rubber

30. Which one of the following statements about systems is not true?

(1) The human body is a system:

(2) Each part of a system has a function.

(3) Each part of a system does a job that is different from the rest.

(4) A system can still work properdy even f some parts are not working.

211
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PART 2 (40 marks)

Write your answers to ‘questions 37 t0 46 in the sbétéﬁ'@i@én.

31. Mary poured some boiling water into a glass beaker. She placed an
aluminium foil over the beaker. Then she put a few pieces of ice onto the
alumintum foil. After a few minutes, she noticed that some water droplets

were formed.

<

(l)\

\. [//i//f [/;—
Lﬁ-/"f_'\’& aleminivma foil -

r———-—icc

glass beaker

— botling water

b. Explain how the water droplets were formed. (2m)

32. State one aimiiarity‘between evaporation and boiling of water? (1m)

25
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33. Some ice cubes were left on the fable for twenty minutes. The graph below

shows the temperature of the ice cubes.

Temperature (°C)

4

Time

a. Is there heat gain or heat loss during the process that is taking place
at Y? (1m) )

b. White clouds could be seen around the ice cubes in the first ten
minutes. Explain how the white clouds were formed. (1m)
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34. The following experiment is camed out.

Three towels of the same size were hung out 1o dry in the same place.
Towel A was fully cpen, Towel B was folded once and Towel C was folded
twice as shown below.

Towel .'A

9 m 2 . “

Fully open Folded once =~ Fokded twice

a. What is the purpose of the expariment? (1m) o -

b. What is the measured variable of this experiment? (1)

27



35. The diagram shows how blood travels in the body.

A

Other parts of the body

Armmows M, N, O, P represent the movement of blood. A and B represent
two organs.

a. Name the organs which A and B represent. (1m)--~ = ,

B:,

—e P

" b, Which arrow(s) represent the movement of blood rich in oxygen?
(1m)

28 216



36. John ran 1.6km during his NAPFA test. The graph below shews his pulse

rate during the run and ten minutes after the run.

Number of

heart beats per

minute

a.  Suggest what could happen 1o cause his heart beal to decrease

between point A and B during the run. (1m)

- b. Explain why the number of heart beat per minute increase when we

exercise. {1m)

37. Write down the systems that the following body parts belong to. (1Im)

Body part System
@) Windpipe ‘
b) Biood Vessel

29
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38. The diagram below shows a plcture of a gill anda tung
Look at the enlarged sections of the gill and lung, state a difference
between their structures. (1m)

38. John set up the experiment below.
A pot of plant was placed in a dark cupboard while another was piaced
under a fight source. He was {old that limewater tums chalky when carbon _
dioxide is present.
. Jar A :
Inside dark cupboard ) JarB . -
Under hghl source

a. In which jar (A or B) will the limewater turn chalky fiast? (1m)

b. Explain your answer in part (@). {(1m)
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40. Four students were in a pitch-dark room where they_could not see anything.
One of them switched on a torchlight and now the siudents were able 10 see
the things around them. '

a. Exptain why they were able 1o see the table and each other when the
torchiight was switched on. (2m)

b. Draw in the box the reflected image of the word ‘STAR’. {(1m)

.

- ~ Mirror

. STAR

31
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41. A metal container is arranged in two different ways in front of a light source to
cast different shadows on the screen.

Arra néement A

Light container screen

Arrangement B

Light container screen

a. State one similarity and one difference between the shadows formed in
Arrangement A and Arrangement B. (2m)

Similarity:

Difference:

b. Describe in what way the shadow would be different if a frosted glass
container is used in Arangement A. (1m) ‘ :

€. Explain your answer in (b). (1m)
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42.Ken set up the experiment as shown below to investigate the transparency of
different liquids. He switched on the torchlight and recorded what be saw on
the white paper in the table below.

clamp

A4

Evo _ -

Liquid W X Y z

What he saw on | Brightfight | Faintlight | No light | Faintlight
the white paper

a. What is the test vanable of his experiment? (1m)

b. State one vaiiable he must keep the same to ensure a fair test? (1m)

c. Kendropped a coin into the different liquids. In which beakﬁr.of liquid
(W, X, Y or Z) would he not see the coin at all? (1m)

d. Explain your answer in {(c). (1m)
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43a. Samantha set up the /fcliowin,g experiment. She placéd a drop of red ink in
the middie of the glass tube connecting the two flasks X and Y.

'r _

red ink

glass tube

hot water

flask
beaker

air

State what would happen to the drop of red ink. {1m)

i. Explain your answer in (a). (1m)
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b. June was wafking home from school when she'noticed cracks on the
concrete pavement like those shown in the picture below.

i. Explain why the concrete pavement cracked? (1m)

.-y

ii. What can be done to prevent such cracking? (1m)

35
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44, Ali tested four containers made of different materials (P, Q. R and S) to see
which one can prevent ice from meilting for the longest period of lime. He
recorded the time {aken for the ice to melt completely in each container.

a

Time taken for ice to
mett completely (min}

W\ IN

7

i
\

B\

Material

a} Which material is the best conductor of heat? (1m)

b) Explain your answér in {2). (1m)

C}_ Which material (P, Q, R or S) should he choose ta make an icebox to
keep his soft drinks cool when he goes on a picnic? (1m)

—— Y

d) State the measured variable for this investigation. (1m)_
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45.

. Forearm

a. Looking at the diagram above, when X contracts, Y - {(1m)

b. Name the type of joint that enables only the forearm to move up and down?
- {tm)

37



48a. Look atthe diagram below.

Mag nﬁl

N

iron rod

Using the magnet, how can Jayce make the iron rod into a magnet? (1m)

b. Madar Heng set up the following experiment below.

Magnet

L.

lron sheet

Steel nails

i. Will the steet nails be atiracted to the magnet? (1m)

ii. Explain your answer in (bi). (1m)

Setters: Kwok Hisi Min & Yew Hew Mgt
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£o the rest

30. | >
3) respiration system.
b)circulatory system.
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38)The sills are made of feather like structures but
the lungs a;e.j"ff of spongy like structures.

ST,
m“"“fiﬁz—

‘oxygen and™gives out carbon

towaxrds L1
bYyiyl

is no space
ii)Bui
contraction.

44)a)Material
b)The ice 3
c)Material
d) The time taken for ice to melt completely.

5 in the shortest amount of time,

45)a)relaxes. B)Hinge Jjoint.

46)a)Jayce must use the magnet to stroke the iron xod
in the same direction. : )
b)i)No.
ii)Magnetism cannot pass through magnetic
materials.
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